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SM6F04F16H(NEH) 13651849

SM65£04A16H (KEER)

BB OME R —BEET 570, A LIREFENOMBRRIZ—HLAVEED 5 5,

Y AR iERS) E=H = BIELE
B3 771 142,432 143,203 77T %
R= 30 22,901 27 22,958 46 %
=1 801 165,333 27 166,161 71 %
Bfy kg, M
" - e | wm s ENFEflE
48 R g |RFEAHE HEAR TEm YT s e
FE|FWIA 21,805 |& W AL 145 | T 10 540
/31 10 540
B 10
GiERS] 21,660 [T 10 | 1,512 | 1,296 972
B/ e 10 | 1,404 | 1,296 | 1,188
B 10
AN 638 | Xt 638 |T%E 0.8
BE 0.8
By 0.8
ICALCA 11,490 | 8% 11,490 |25 10 | 3,780 | 3,240 | 2916
FIE 10
&b 10 | 1,404 972 918
halF 35 96 | #Exd 96 |BF& 4
REA 0.2
b 4 648 540
“lFoz 2,828 €W AAL 8 |RER 10
&[] 10
£ 10
iERS) 2,820 |8 10
&R 10
b 10 | 4320 3,780 | 3,564
F Ry 8,770 [& W AAL 100 |f#RzR)I] 10 | 1,620
FA 10
£ 10
GERS) 8,670 |tZI| 10 | 1,728 1,620
A 10
B 10
L& 42 | 8 42 | Zk 10
EE 10
£ 10
E<ETn 2,800 |& Y ARL 50 |k 13
£ 15
=R 2,750 |ZHh 13
£ 15




SM6F04F16H(NEH) 13651849

HIFTHE - @&
KHTE #HHETR $H6E04A16H (KER)
B{I kg, M
x| w4 HFEHE |RTHE HEARR — Eﬂ?ﬁ% —
FEHR A e Hi| =fE B ZE
ZEOR 610 | #Ext 610 [Z3E 0.2 86 76
BR 0.5
B 0.5
IE5NAZD 1,455 |2V AR 55 |Zkik 0.2 130 22
PSS 0.2
B 0.25
iEpS 1,400 |Zisk 0.2 140 130 119
5 0.2 151
B 0.25
hE 2,476 €Y AAL 9 |FE 5 1,620 1,188
a3k 5
By 5
GiERS] 2,386 |FiE 5 2,376 | 1,512 864
BE 5 2,052 918
B 5 1,620 648
ol 9,313 | &YW AL 25 B 5 5
i 5 2,268 2,160
By 5
GiERS] 9,288 |#E 5 2,700 | 1,944 | 1,620
BE 5 2,808 | 2,376 | 1,620
& 5 2,700 | 2,160 | 1,944
NERSRS 13,200 | #Exd 13,200 [z2-v-35>¥ 10 | 1,728 | 1,404 | 1,350
e 10
By 10
AN 6,267 (&Y AAL 108 [=#0 0.4
&k 4
& 0.4
iEpS] 6,159 |=4%0 0.4
& ] 4
i 0.4 248
k< b 2,782 | 8% 2,782 |ReA 4 1,404 [ 1,080 864
HAR 4 1,512 972
B 4
Nl 8 3| B 3 |5& 3 1,944
A 0.2
By 0.2
- 3,246 &Y AAL 58 |2k, 0.15
=y 0.13
& 0.15
GERS 3,188 | 0.15 119 108 97
= I 0.13




- HM6E04A16H (KIER) 131184

HIFTHE - @&
KHTE #HHETR $H6E04A16H (KER)
Hfi: kg, A
x| w4 HFEHE |RTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B ZE
B 0.15
ZHED 308 | #4Ex 308 |EEIR 4 4,320 | 3,780
IR 4
By 4
CxhWH 14,720 | #Bx¢ 14,720 |EIR 10 | 3,240 1,728 | 1,620
s 10 | 2,700 | 1,620 | 1,080
By 10 | 1,944 1,728 | 1,620
TOoF0H 7,730 | 4B 7,730 | FE 5 1,404 | 1,080 864
24, 5 1,836 | 1,296 972
By 5
TmERE 13,790 | B4 13,790 |dtiEE 20 | 2,700 | 2,592 | 2484
EB 20 | 3,942 | 3,888 | 3,024
B 20
mELWET 109 | #Ex 109 |®kEH 0.1
=F 0.1 119 108 86
&b 0.1 248 108 86
Z DI 18,725 &Y AAL 132
GERS 18,593
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60481680 (XIER) 135185

KHMiE #HHEHER $H6E04A16H (KER)
B kg, M
x| w4 HFEHE |RTHE HEARR — Eﬂ%{m% —
FEH aniE B | =fE B ZE
REER|HERDOHIA 1,400 | 484 1,400 |REAS 10
FiE 10 | 1,404 1,296
B 10
lZo &< 430 | #Ex 430 A1kl 10
IN= 10
B 10 | 1,620
AT e 750 | 4Bt 750 (ZE 75| 1620 1,512 1,296
REAR 75
By 75
EN PN 1,646 | 8% 1,646 [REA 5
B 5
By 5
BR 1,470 | 484 1,470 (=12 10
AR 10 | 2,700
B 10
WAZ 10,248 | #Bx¢ 10,248 | &% S U 10 | 8,640 | 5,076 | 4,104
5% FAK 10 | 4,320 3,780
Wb 2,794 [€ Y AAL 30 |#EAR b L8 |0.26
I EbEB e |0.26 270 216
BH EbEBEH|0.26
& [ HhEHH |[0.27
(i Wb T XA |[0.24
E: fLIE->~ [0.28
I $TIT->~2 [o0.26
it FLIF->~2 |0.26
GRS 2,737 |#A EbEH e |0.26 324 162
KB EbEBE8H 026 356 324 194
BH EbEHEH|0.26
&k HhEHH |[0.27
EB Wb T XA |[0.24
F fLIE->~2 |0.28 378
K $IEF->~2 |026 324 292 173
i $TIF->~ |0.26
[Ekzibar:: 27 | EbEEEH 026
Rk EbEBE8H 026
B EbEHEEH|0.26
& HhEHH |[0.27
&8 Wb T XA |[0.24
F fLIE->~ [0.28
I, $IF->~2 |0.26




SM6F04F16H(NEH) 13651849

HFEHE - @&
KHMiE #HHEHER $6E04H168 (AER)
Bifif : kg, M
N N I EDFEMmE
k] SREA HEHE |REAE HEAR IEm Y3 5l =@ TE e
£ fIZ->~ [026
T—IILZA XAV 46 | AT 46 |E&E 1
=A 9 | 12,960 10,800
BHh 8
TUTAAOY 420 | Bt 420 B 5
B3] 5 4860 | 2,484 | 2,160
B 5
ERAY) 1,994 | #8xd 1,994 [gER 15
B 15
Z DRE 1,760 | #8xt 1,760
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